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  decide independently at 
each tree vertex 

  not just left or right child! 
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note: backface culling 
alone doesn’t solve the 

hidden-surface problem! 
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for(int i = 0; i < 2; i++) {  
   glPushName(i); 
   for(int j = 0; j < 2; j++) {  
      glPushMatrix();  
      glPushName(j);  
      glTranslatef(i*10.0,0,j * 10.0); 
         glPushName(HEAD);  
         glCallList(snowManHeadDL);  
         glLoadName(BODY);  
         glCallList(snowManBodyDL);  
         glPopName();  
      glPopName();  
      glPopMatrix();  
   }  
   glPopName(); 
} http://www.lighthouse3d.com/opengl/picking/ 




